
s|=;+= of]hgfsf] gfd -s]Gb|_ /sd

1 wgkfn uf=kf= l;dfgf j8f g+= % b]vL ;f]s]gsf] 3/sf] jf6f] ;8s u|fe]n j8f g+= ! 400000

2 slj/ :yfg s'6L  dd{t j8f g+= ! 100000

3 bfgaxfb'/ /fO{sf] 6f]n b]lv k"j{ hfg] gx/ ;Ddsf] ;8s u|fe]n j8f g+= ! 1000000

4 w}tL vf]nfdf sNe6{ lgdf{0f j8f g+= ! 1000000

5 ;'sgf vf]nfdf afFw dd{t j8f g+= ! 2000000

6 ;'sgf vf]nfdf cf/=l;=l;= sNe6{ j8f g+= ! 1000000

7 dfg axfb'/ tfdf+ªsf] 3/ pQ/ j]njf/L l;dfgf hfg] ;8s u|fe]n j8f g+= ! 1000000

8 ed/L 6f]n sNe6{ b]lv sf]r]gL vf]nf ;Ddsf] ;8s u|fe]n j8f g+= ! 500000

9 e'G6f bf;sf] 3/ b]lv so/ vf]nf ;Dd ;8s u|fe]n j8f g+= ! 600000

10 lwdlwd] e]l8jyfg ;8s lgdf{0f j8f g+= @ 1000000

11 lgzfgyfg dlGb/ lgdf{0f j8f g+= # 400000

12 jd]{nL 6f]n lzj dlGb/ ;fd'bflos ejg lgdf{0f j8f g+= # 1000000

13 j:g]t 6f]n pQ/ sNe6{ lgdf{0f j8f g+= # 200000

14 rf]k|fxf rf]s xg'dfg dlGb/ j8f g+= $ 700000

15 u|fdyfg nj6f]lnof j8f g+= $ 500000

16 dnËjfjf dlGb/ j8f g+= $ 300000

17 u0f]z df=lj= sDkfp08 3]/fj]/f j8f g+= $ 500000

18 b'3]Zj/ gfy dlGb/ j8f g+= $ 200000

19 hgtf df=lj=sf] vfN8f] k'g]{ sfo{ j8f g+= $ 500000

20
dxfgGb d08n 3/ b]lv ;bfgGb ;fxsf] 3/ x'Fb} kf]v/L hfg] ;8sdfcf/=l;=l;= kSsL gfnf / 

9Ssg ;d]t lgdf{0f j8f g+= $ 10000000

21 wgfk§Lsf] cw'/f] lzj dlGb/ lgdf{0f /+u]nL % 1000000

22 7fs'/ 6f]nsf] cw'/f] nIdL dlGb/ lgdf{0f j8f g+= % 500000

23 lbgfeb|L dlGb/ lgdf{0f Clifb]j 6f]n j8f g+= % 250000

24 /+u]nL g=kf= j8f g+=% sf] ejg dd{t ;Def/ j8f g+= % 500000

25 xg'dfg dlGb/ lgdf{0f  j8f g+= % 500000

26 ;fx' 6f]nsf] uofgGb ;fxsf] 3/ blIf0f klSs gfnLsf] 9Ssg lgdf{0f j8f g+= ^ 200000

27 zlxb b|f]kbL b]jL dfu{sf]] gfnfsf] 9Ssg lgdf{0f j8f g+= ^ 2900000

28 dw'jgL :s'nsf] kf]v/Ldf 57 3f6 lgdf{0f j8f g+= ^ 500000

29 z+s/ ;fx 3/ b]lv d'08fsfnL x'Fb} gfkL sfof{Nfo hfg] ;8s j8f g+= & 5000000

30 lji0f' dlGb/ lgdf{0f -vf]nf kf/L_ j8f g+= & 700000

31 >j0fsf] ldn b]lv klZrd–blIf0f x'Fb} hfg] ;8sdf df6f] tyf u|fe]n ug]{ sfo{ j8f g+= & 200000

32 nj6f]nLsf] alx/f 3/ b]lv pk]Gb| l;+xsf] 3/ ;Dd df6f] tyf u|fe]n sfo{ j8f g+= & 100000



33 ltt/L 6f]n eujtL dlGb/ dd{t j8f g+= & 200000

34 sfnL dlGb/ ;fd'bflos ejg lgdf{0f j8f g+= & 8450000

35 lt?ktL cfo{3f6 lgdf{0f j8f g+= & 2500000

36 bj]{zf sdnf zfxsf] 3/ klZrd x'b} rGb|fgGb rf}w/Lsf] 3/ j8f g+= * 500000

37 hgtf Sofdk; b]vL pQ/ x'b} hfg] ;8sdf j8f g+= * 500000

38
zflGt rf]s k'j{ l/hfn 6f]n x'b} wGh'jf hfg] ;8sdf df6f]sf] sfd tyf Xo"dkfO{k h8fg j8f g+= 

( 600000

39
j8f g+= @ / ( sf] j8f sfof{no ejg tyf g=kf=sf] ;efxn lgdf{0fsf nfuL lh=;=;=df]/ªaf6 

k|fKt x'g] /sddf ;dk'/ssf]ifaf6  6000000

40 k|b]z ;/sf/af6 lgdf{0f x'g] j8f g+= # sf] cd/ dfu{sf] nfuL ;dk'/s sf]if  6000000

41 dd{t ;Def/ sf]if 9500000

42 v]ns'b ljsf; sfo{qmd 2500000

43 nlIft sfo{qmd 4400000

44 /+u]nL o"jf Snjsf] nfuL Joofdzfnf lgdf{0f /+u]nL & 500000

45 /+u]nL g=kf= vfg]kfgL lgdf{0f tyf dd{t 900000

hDdf 77800000


